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Examination Rules

C%I::{}_&SBFI{ A o a 1. The time aflotted for this.examination is two hours., *
' You may, however, take up to 60 minutes of additional time to finish.

“The Best Place on Earh

Foundations of Mathematics o , . 2. Answers entéred iri the Examination Bookiet will not be marked.

and Pre-Calculus 10 . | '
Examination Booklet

2010-2011 Sample A

3., Cheating on an examination will resultina mark of ,zero'. The Mirtistry of Educétion
considers cheating to have occurred if sluden!'s break any of the following rules:

: - B - : ) : : = Students must not be in possession of or have used any secure exarnmaimn
_ { DQ NOT OPEN ANY EXAMINATION MATERIALS UNTILINSTRUCTED TO DO SO, . —I - .materlnis prior to the examination sesston .

. Studentsmust not communlcate with other sludents durmg the examlnallon

Examlnatlon Instructic
ons - Students must not give of receive asstslance of any kind in answering an

1. On your Answer Sheet fitl in the, ‘bublile (F—ormA B, C D E,.F, Gor H) that corrEsponds . ’ ' . .- examination question during an examination, inchiding allowing their papers
~ . lotheletteron “"5 Examination Booklat.. : ‘ © tobe viewed by others or copying answers from another student's paper.

o N L - + Students must not possess any book, paper or itemn that mlght assist in writing .
-2, You may réquir ; i i > S
" y, gqure a Brotractor and a ruls (metnc pnd imperial). -an examination, including a dictidnary or piece of efectronic equipment, that is
o o ' not spegcifically authorized for ihe examination by ministry polic
3. You may use math tiles. Pe Y Y Y PONCY.:
N . Students musl not cnpy, plagiarize or present astheir own, work done by any
. other person,

R

.4, When usmg your calculator (smentn‘lc or. approved graphlng caloulator): - [ . : ' ‘
* usethe prograrnmed value of . tather than the apprommatmn of 3.14:- e L © =+ Students must rmmedlately fo[low the invigilator's order to stop writing at the end
: ’ of the examination time and must not alter an Examination Booklet, Response |
.Booklet or Answer Sheet after the- mv:gllator has asked students to hand in
exammatlon papers. .

* round only in the final step of the solution

5. Dlagrams are not necessanly drawn to scale.
+ Students must not remove any piece of the exam:natlon matenals from the -

6. Whern the examination beg”’!S- remove the data pages located in the centre 6f _examination room, mc!udmg work pages

this booklet, -

. : o . : ’ C . . S 4. The use of Inapproptiate language or'content may result in 2 mark of Zern
7. Read the Exam_mation Rules en-the back of this booklet. ) ’ B belng awarded.

5. Upon compleuon of the exammation retum all examination materlals to the
supervrsmg ‘invigilator.

_Contents: 31 pages
54 multiple-choice qussuons {maximum of 54 marks}
- 6 numenic-response questions (inaximum of 6 marks)

- " Examination: 2 hours’
- Additional Time Permitted: 60 minutes” . -
© Province.of Britlsh Golumbia




PART C: NUMERICAL-RESPONSE QUESTIONS
’ - {calculator permitted) -

. .Value"G marks o e Co ’ Suggested Time- 15 minutes

Thxs is the end of Part & (calculatcr not permltted)

Hthere is some’ time left, you have two options:

1) Make sure you have answcred all the questions. You will not'be able 1o go back to this section at
-the end of 40 minutes. .
ii}- You may proceed to the 1 rest of the examination withou the use of a calculator ‘there arc many

Guestions that do'not require 2 calculator. Make sure you ﬂag any quest:ons you skip to
femember to go back to them later.”

Do not access yqur—ca.lculator until directed by the supervxsor At the, end of the 40 rrunutcs, the”
- Superviser will give you permission to acccss your caleulator.

* Page 6 - Faundations of Matheatics and Pre-Cs_i,Iaglus'-m - 2010-2017 Sampla A

INSTRUCTIONS When answering numencal response questlons on your Answcr Sheet

pnm dlgns s 111usu'ated

IE@EEI@IIE

shade the bubble with the negauve symbol if tbe answer is negalive; shade
or !cavc blank the bubble with the posmve symbol if the answer is posmve

+ write your answer in the spaces provxd..d us:ng one dlglt pcr box, nonng
! proper placc value.

leavc unused boxes blank

“For cxamplc ~70.2 will be written as:

VooilhbHﬂl

For example 4 will be wrilten as:

oo il moreo| 11 |4i| | |

For examplc, % answcred to two demmal places, will be written as:

56 [TTTo}fe) « &6 (T TTelfelr]
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CH. |
. NO CALCULATOR

. Jasdeep and Kelsey converted 177 ounces into k-ilograrhs. as shown below.

Jasdeep's Selutiprr.- .- -

ai

28358 lkg. Clor | Lk
1TToex 2228 X8 _ 5017950k 7 —X& .
_02?‘ Lo T s 950 kg ITOZXZS.BSgXJGOOg 0.0062 kg

Which statement below is true?

A. Ocly Keisey is correct because the units cancel.

B. Only Jasdeep is correct because the units cancel. | )
-C. Only Kelsey is incorrect because the conversion factors are incorrect.
D. They are both incorrect for different reasons.

A baker gets his muffin boxes from the United §tates. The tallest muffins he bakes are 11 e,
Estimate the height of the smallest box in which the muffins will fit.

- .30 inches tall

10 iaches tall

. B
" . . 5inches tall
D

@

=

e

4 inches tall

. Which of the following calcularions converts 4 yards into cenfimetres?

. 2.54 cm
A. 4-y§x————-—l .
Lo 3ft 254 ¢m
B. 4 ydxmx 1T

Jft _12in_ 2,54 cm
C Ay TR T

1ft _lin_ lem
D X 20 “2sam

A road sign says to turn right in. 1000 feet. Approximately how far is this distance in kilometres?

A, 03km
B, 0.6km
C. 1km
D. |.Skm

;
;
!
i




oy o - CHI

_Q_ALCULATOR PERMIWEB : : N ‘ ) @ . As an estimation stra.lt:gy, th_c’ou]d be used to best approximate one centimetra? ;
- Mulkiple.. Choiee.... : ‘ o , . : .

A. the length of your foor "
B. the width of yo{.\r hand

C. the widthof your finger

D. the width of 2 pencil lead

@ Polar Corapany has designed an ice bloék_ in the shage of a cube. The volume of the
cube is 15 625 cm® Which of the following dimensions is the smallest opening of an ice
dispenser that will accommodate length AB?

@ - On a quiz, students were asked 1o convert 5 lbs 4 0z to a metric weighit.

B Lo _ . T . PR
i C C | 4ozx{E—=0251b : 92 _
1 - . ) . S : . 6o : Hox g =800
L T
. A .
/: ! , : o S . 525lox “5‘”‘ ~23835kg 84ozx2—§%22381.4g
—_ = ° . .
- How should the teacher mark thess two solutions? -
"t\ 25 e wide * A, Only Erid’s solution {5 correct,
) 'B.. B om wide - B. Only Stan"s'solutien is correet.-
C. 45em wide C. Both Stan and Erin gave a-correct solution. -
D. over 50 cm wide D. Neither Stan nor Erin-gave a correct solution.

@ Sarah-needs to replace the cxhaust pipe on hcr dirt bike. She uses a Vemzer calllpcr to find the
dla.meter of the pipe.

@ A cylinder bas z surface area of 402 em? The helghr 15 three umes greater lhan the radius,
- What is the hElght of the cylindet?

A, 800cm
B. 1048cm
C. 1200cm
D. 1697 em

@ . A bowlmg ball measures 264 cm in circumnference. What is the volume of the. smallest cube that

will hold this bali?
_ A. approximately 75 000 cm?
What is the diameter of the pipe? B. approximately 311 000 cm®
A, 161 mm C. approzimately 594 000 cm® -
g ;g; mm,; : b. alplproxima[ely 2 300 000 cm“,'r
D.. 29.0 mm




C.H. [

@ A cone-shaped water tank has a volume of 1000 litres. Which diagram best represents

@ - Using the rler below; determine the length of the pencil. - the 2501, 500 L-and 750 L marks outside of the water tank?

. A. E.
T T TITY T Iy TT LR L L LY e RE N LN B AN LERN L RS RN R
-IIUIIIIIHI‘I'IJIII'IJIJ"I | I l | | ‘ | , | I T , ] ! | |
Inches 2 3 4 3 6 7
: 1.
A S 3
B. 52
L c D.
C 5 )
D 7l )
jung was told to plant trees [wo steps aban. Which of the following estimates is closest to “two .
steps apart”? . . :
A 6ft
B. 3m
C. 60cm :
D. 30in
- - RT B ’ - A cylinder with a diameter of 10 cm and = height of 12 ctn is half full of water, A & h itha . :
. 7 @ A : rof : ) +A sphere with a i
@ + - Which distance below is thic longest? . _ * diameter of 5 cm is dropped into the cylinder, How far will the water level rise once-the sphiere is :
_ - : "~ completely under the water? . ’
| 0smi 1000yd, 1m,500m | : | g
AL 057em
B. 0:83cm
A, Qbmi C. Sem
3. 1000yd D. 6cm
C. 1km
D. 960 m




CH.L S CH. I

_ The stant heigi of the pyramid below is 45 em, Caleulate ts volume. - , . Which of the foliowing ner diagrams best constructs the cone below?

" 10 062 crin®

A.
B. 12728cm?
C. 13500cm’
D. 40500 cm’

@ The volume of the object below is 186 ¢m®. Calculate the leng[.h of x.

. 14
9 em

A, 3lem

B. 25cm

C. 175em

D. 1.25¢m

U’ e




CH. |

Which of the foliowing sﬁapés.ﬁas a volume three times larger than the pyranﬁd befow?

buse urea = 160 cm?

B.
h=15em’
h=30¢cm
base area = 160 cm?
base area = 160 cm?
C. D.
k=5cm
base area = [60 cm? : i=30cm

L : ' : : base area = 160 cm?

Numerical Rpsp}mse,

_. Convert 150 pounds into kilograms. Answer to the nearest kilogram,

‘Record your answer.neatly on the Answer Sheet,

An‘swef‘

66 0000.00

‘ Calculate the surface area of the solid hemisphere below. Answer to the nearest square melre.

Redord your answer neatly on the Answer Sheet.

“ Ans:w\e_rj

| 56DDDDDB

CH.1
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CH.O

o No ML ATOR

® " Determine the-ratio of cos 4.

2
A A==
cosA=%
B. cosA= 1/5_5_
. ) : S : o : C. cosA= S

 Chapter2 7%
. o : y _ S | . .QAL&L{LQATQ&...U#EE,@,_{@ IE.%Q;._. ‘. |

.

 Using a protractor, measure one of the unkrown angles.and determine the length of side x.

AL

"Note: This diagram is drawn to scale,

A. 35m
B. 48m
C. Slm
D. 132m




a | L CHA

A 10 metre tall farmhouse is located 28,0 m away from a tree with an eagle's nest, The angle of
“elevation from the rocf of the farmhouse to the eagle’s nest is 30°.

@ . In AABC,.£C=90°, AB=17cm and AC = 15 cm. Calculate the measure of ZABC.,

A, 28°.
B. 41°
C. 49°
D. 62°

- . The angle of elevation of the sun is 15°. How, long is the shadow of a 64 m tall building? : f

What is the height of the eagle’s nest? ' . A. 17Tm - B ) : . o
. IR ’ B. -66m -
A Lom £ 239m
B. 2m D 247m

.. C 26m N
D. 48m

. . @ w. As Tracey is driving, she sees a sign telling her the road has'a 7% grade {i.e., 4 rise of 7 metres
. Ann and Byron positioned thems«:lves 35 m apart on one side of a stream. Ans measured the ' for a horizontal change of 100 m). Which of the following expressmns wilt calcuiate the.angle

angles as shown below, | . 7 ) - . berween the road and the horizonatal?

]
;
i

Calculate the height of the cliff on the other side of the steam,

A 175m : ' : D. sin™ (100] . ' :

B.  625m o s . . . ) ) . ' |
C. 70.1m B : - - : : : K ) . ) 1
D. 1071 m . . - C




tg\ Mission's outdoor club collected the following data to determine the height of 2 oliff,

Calculate the height of the cliff, . .

A, 37m
B. 84m
G, 244m

D, 261 m

C

h &

: - CHR
_ Nuwmess cat .Respahs@.‘: '

' © A rampis set up usih’g & rectangular piece of b]ywood (shaded region) as shawnbelow. .

08m

Calculate the area of the plywood. Answer in square metrss to one deciina.l place.

Record youf answer neatly on the Answer Sheet,

An swer )
R - ' D :
oo [ANNL 00
. Caleulate the length of side x on the diagram below, Answer-to the nearest centimetre,

2
10cm £

3z°

Record your answer neatly on the Answer Sheet.

Ahswe’ﬁ

o0 \N00.00




CHARTER 2.

Answe’b 'Ké.y

~ No Cale M/C |
‘I'

PNSaswy
oPPoCOnN®D®
R

 unetial Respae
q. so DOME.AM

‘0 % 0OEE.00



‘ Chapter 3 |

_NO_CALCULATOR

@ Which of the following statements are true?

vnwE

LIL MTand IV

T. |- The factors of 24 are 2, 3, 4, 6,8 and 2. ‘
IL"| The prime factorization of 24 is 2*x3'.
IIL. | The prime factors of 24 are 2 and 3.
v, Jﬁ- is an imrational nitmber, _
[and IV only
11 and IT] only.
. I T and IV only

(2 Whaxis the least common multiple of 18 and 247

A,

B',
C
D

2x3’
2tx3?
2% 3?
2 x3

() Whatis the greatest common factor of 12, 24, 30, 727

Uomy

360

12
6.

2

| CH.3




CH.3 oL W3
LAt ATOR PERMTIIED ) R

@ . - Which of the following expressions have a factor of x+2 7

’ @ : Which two, nunbers have the following propemcs” . . ’ ) : - ] . . B A R B
. Their GCF is 12. ’ : o . ) . - -
= Their LCM is 72, _ ] : . . . . CIL o 2xf-x-10
A 2and3 ‘ ' . . : o 1L | sx+10
. an . . . . _ : ]
"B. 24and36 : o

. 1 ;
C. 48and 72 g iffiiﬂy :
P. 72 and 864 _ ‘ - €. land Il only ‘ e R :
o ' ' . et D. I,Tand1lf T - ' {
@ . Which of the following diagrams best represents the expansion of {2 +3)(x+1) pictorially? i ) . ‘ ‘ ;

mnsmnsxn e NS R - @ Faeor yres

A. _ i : '
, | | o A (e
A : | . . CBOGa9
N - : S | S (9)y-9)

D (x+3)(y- 3)(y+9)

Kaue sunphf'ed the expression (x + b)(x +c), where b<0 and c <0, o the form x° +. £x k.
What must be true about g and k?

c - . oo O TITY ' L A g<0andk>0
_ _ _ ' 11 _ B. g<Oandk<0
' j o : . g>0adk>0

D

g>CGand k<0

: . .Eipandand simplify: {4x-3)

CF : " A 162249 _ . ' _ ?
@ . Expand and simplify: (x~4) B 16612049 ' . .
- V ) 2. -
21201 + 480 <G4 C. 16,\:1 24x-9
; D. 1651 —24x+9

A
B, 2t +12x*+48x+64

C ¥ =dx?+16x+64 .
D.. 2>-64




cus . S o

.o : : @ . Determine the greatest common factor of 125%y, 4;3):2 and 6x2° .
. @ . Given that the area of the rectangle below is 2x® +9x — 5, desermine the length of the rectangic. B. 2% . . . . ) . .
. - ] : c 4x3y2
B, 12254
x+35

) @ . Determine an expression to represent the shaded area below.

length _
A 2x-]
B. 2x+1
C. 2x +9
D.

S 2 +Ba—10

@ " Pam expanded and simplified (x - 3)():"’- +2x 4) . as shown below.

e U,

L] x(x? +20-4)-3(s? + 25 ~4) o e

- A B4,
L} 2?4202 ~dx—-3x2 +6x-12 B. x1+l3x+67
, ' T 54293 +43
IL | x*— e +2x-12 D 36 +13x+67

In which step is Pam's first error?

A, Stepl : S ‘ .
" B. Swepll : : ) ) . : o } : S
g ',?\;f; ;[‘IS no mistake. ‘ : - ’ : @ : When completely factored, how many factors Adoe's 2x* - 2427 - 128 have?
@ . Which of the following expressions is & factor of x> —8x~20? B. 3.
: . . C 4
A x=2 : D. s
B. x~-4 ) *
C. x-5
D, x=10




@ Joe was asked to facior 6x? 4+ x—19 and represent it with math tiles.

A

EHE
EREEE

What additional tles would he need to represent the total area of the two factors?

A - 8 each of L:l and &
B, 9eachof (T and B
C 10 each of-IIZI: aﬁd

D. lleachof 7] and

ﬂurﬁgﬁﬁiﬁ_ﬂﬂsimns.e_w

n How fhany integer values are there for k for which 4x2 4 kxy —9y? is factorable?

Record your answer neatly on the Answer Sheet.

AHS w&f‘

%o OO0.n0



CHAPTER 3

Answec Hey_

No Cale M/

. C
d. C
3. C

PR (]
= -
=

e A AR A
SWFEg®NT Fre

SRARERD =
DO OW *

85 000A.00
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MO__CAL Clil ATOR,

. @ ‘Which of the following statements are true?

L s{q=2 since 2x2=4

. J§=4 since 4+4=8

. Y27 = 3 since 3x3x3=27

W ¥81=9 since 9x9=81

Land ITT only
Tand IV only

I and {II only

Il and I'V only

@ Simplify: 77

Chapter 4 ' i

vowe

C. 1842 : : _ o o
D. 363
‘ ]
@ Evaluate: 16 *
A -8
1
B, -
8
! !
. c 2 i

D. 2

® "Express 24/5 2s an entire radical.

vow e
daszm




©

cawy»

Order the numbers from the smallest value to the fargest value.

R
| )
m, | 243
v. . 247

CLIVL
LIV, I 1T
IV, 1L T
W, LI

Simplify: (2x3)3~ ax?

0w
oo
b
g

" CALCULATOR  PERMITED

1 0
. Simplify: (3a°) (4a°)"
A Sa®
B. 274"
C 36d
D. 108a"

B

CHY

@' “Which pattern coutd be used to predict 3749

A

»
3
3
30
3-!

-3

27

~ .
-.s["“ O Wt— — W w

L= VS N« =]

| 1
= Gvl= W=

Lo T VE R - SN ]

| -6

-9




CHH. | . I o LCHY
_ . Which of the following munber lines best represents the placement of X, Y, Z, given:

S X=245
Y = cube root of 68 - :
747 : @ . A tesearch assisiant calculated the brain mass, b, of an 8 kg cat. She used the formula
. oo : ’ 2 ‘
o &=0.01m?, where m js thé total mass of the at.
z ¥ X ' '
A t } ~—t } t t }
0 1 2 3 4 -5 6 : .o , :
v X z : ' L b=0018"
B, I —t t oo = ‘ ' ) o
0 1 2 i 4 5 6 . ‘ _ ) . 1L | 5=001316
C t t t t . iY t - } Il | &=0.01(2.52)
0 1 2 3 4 5 6 -
. . | b=0.025
z X ¥ ) ) . 5 -
D. (-) ; - é ' :; ‘.‘ . E; IG - - : ‘ . Inl whigh step did the research assistand first make a mistzke?
A, Stepl .
B Swepll
C." SwepIll
D. SteplV

@’ - Which one of t{he following sets of numbers contains only rational numbers?

A {—%. 7.1, J:_ﬁ}
5. {l_, -6, ﬁ}

2 2

L _ c {-3, 423, 4121314}
] o)) | _ - | S . :
' © Do (V10038 %) : :

V.|

. — - : @ '.Simplify: JF'I'%/JC_‘

Which step centains her first mistake?

‘ A Yx
A. Stepl N
“B., StepT B. ¥x
C. Steplll c. ¥Yit
D. SteplV
, D. ‘¥z



Simplify: 1080

B0 w e

23135
330
65
63/30

wal—
-3

Which expression is equivalent ta (_.‘-_.2)'
A, ]
T
1
B.
AR
C -
: f_(_..
b. @
N—M v;nprmmi RE.S;MMP

. A bacteria culture doubles every hour. If there are 10 000 bacteria now, how many bacteria were

there 4 hours ago? Answer to Lhe nearest bacterium,

Record your wnswer neatty on the Answer Sheet,

Ansuer

cHy,

55 ANO0.O0-




CHAPTER Y

Answer Key

3

SaF W -

Mic.

0
>O0>>aNFTroe O ©o0 owo >
g I

-Mm@L&@m
1. 80 NEEE.00



‘ @ The graph below models a bicycle’s distance from a bike shop over time,

Q

Calz_iulata the change in the speed GFIH; bike fron;\ segment P to segment Q.

A

B.
C.
D

The cost €, in dollars, of renting ahall for the pr.orn #s given by the formula C(r) = 500 + 4n,
where a is the number of siudents attending the prom. Calculate the cost of renting the hall

NG CALCULATDR

Distance from
Bike Shop (km}

.. decreased by 15 km/h

decreased by, 5 km/h
increased by 15 km/h
increased by 11 km/h

if 70 students attend.

A.

B
C
D

$108
$500
$780
. $970

2

3
Time (hours)

CR.S.
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WWC_ALLLJLAIQ&_P_ERMI_;EIED_.,.._......_,,m-.u. '

Jim delivers newspapers. I-Ie.gets paid 10 dollars for every day of work, plus 5 cents for
every paper he delivers. Which of the following graphs best represents Jim's possible income
for one day? - :

A. is B.
2 “ .
[5] L'}
E- E —
Q [=3
(X} (¥4
5 & -
b1
1o 20 i 4 s . 0 2 30 4 s
Number of papers "~ Number of papers
c. D.
50 4
451
doq
g @ s
g g7
E : . §_2sr--
- Twt
15+
0+
_—
s w1 2 25 5 0 15 20 25
Number of papers’ o Number of papers

Alex bought 144 bagels for $80. His profit was $75 once he had sold 100 bagels.
Which equation bélow represents Alex’s profit P, zs a function of the number sold, n?

A, P =—005+80

B. P=0052~80
C. P=075n
D. P=155n-80

CHE

@ Determine the domain of the relation graphed below.

oo E >

gnwk "

C{-a, 2]
. [+2)
. [—l, 5);
- [21,9]

Tonly 7
Tand IV only

II and IIf onty '

1 and IV oaly

) @ . -Which of the fc»l]owing coordinates are intercepts of the linear relation 2x -3y +30=07

L (q.'um)

L ..(0.‘ %)
1. ! (-10, 0)
. | (-15, 0)

CH.5
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L

JIEN

Onow>

'

Which of the following relations are also functions?

T |

T\

v

—

11 only
Tand T -only

M and TV anly

I, I and £V only

The cost tg insure _]e:wellery is a fixed amount plus a percentage of the value of the jewellery.

It costs $32 to insure $1000 worth of jeweilery or $44.50 to insure $3500 worth of jewellery.
Whai is the fixed amount to insure jewellery?

onm»

$27.00
$31.25
$44.65
§58.82

CH.5

“Use for 49

A.
B,
C
D.

" ‘What does the slope represent in the graﬁh below?

oW

250 4

L 200

Cost ($)

|50‘__.. e e

Cost of Hiring an
. Electrician vs. Time

100

50T

$550
$475 -
$400
'§21%

2

Time ()

3

: @ . - Whatisthe cost of hiring an electrician for § hours?

.

600 +

w
=1
<

P
=

L
a
k=3

(%]
-2
=1

Revenue from Tickets (.“B‘)

'8

price per ticket ©
profit from tickets
revenue from Gekets-
nurmber of ickets sold

5

0
- Number of_’f'ickcts Sold:

CH.5




CHS

Which of the following relations arg also functions?

ungE >

i | {(0.2).

| y=2x+5

(1. 4), (3. 6). (4. 5}. (4. 3), (7. -8)}

IMI. | The output is § more than half thé input.

Y

I only

Iand IV only

I and O7 only

ILII and IV only -

Damien has a list of 37 potential customers for his house-painting business. In order to

gel a business grant, he must graph his income versus the number of customers, Detemunc

the domain of the graph.

Ao {012,300

"B, {0.1,2,3,..37)

C., 2l real numbers

D. ali reat pumbers between 0 and 37

A hot-dog stand owner makes a profit of $100 when he sells 20 hot dogs a day. He has a loss
of $30 when he sells 25 hot dogs a day. Whick linear relation represents his profit? -

A, y=05x+55
"B, y=108s+3.08
C, y=11lx ’
D. y=2x-§0

@ .+ Determine the range of the linear relation graphed below.

y$.~4
ys2
yz-4
yz2

cowp

@ . Which ordered pair represeats f(3) = —

A (-5.3)
_B. (-3, 5)
c. (3.-3)
D. {5.-3)

’ Which of the following scenarios is not linear?

the height of a football thrown over time

the total weight of 2 jar of penries as riiore pennies are added

the distance yravelled by a.car moving at 2 constant speed over time

the pay of a tuck driver who eamns $2500 a moath, plus $0. 50 for every lalomctre he drives

Dowy»

CCHS

i
3
i
p
i
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@ . Marbles are placed in a jar one al a time. W!ruch graph below best represents the total maSS of the jar- .
and marbles as lhc marbles are addad?
Al . B.
" : - ' “ - / . o Amount of Gasoline Remaining vs. Distance. Driven
a . B ¥ .
3 . - F
o . %
g & 01
= . .
- ) . a
Number of marbles Number of marbles E
. i : 2
g
-G D
g9 A § ’
&5 .
= S =
& . 3 + f t - ~ ¢ { x
. B 0 100 200 300 400 500 600 706 . 8g0
Distance (km)
- The graph above shows the relauonshlp between the amount of gasoline remaining in a 50 L tank

and the distance driven fora cartain ¢ar,

Number of marbles Number of matbles

What does thex—intercept represent in this situation?

‘A, fuel capacity of the gasoline tank -
. B. total distance travelled during a long trip
C. rtotal distance driven untit the car is out of gas.
- D. number of kilometres driven per litre of gasoline




What is the range of the graph below?

1, LAL x value._s.betwee,n 2 and 6 jnclusive. -

L. | (2, 6)
ol q [1, 5]
IWAREYEER

- A. Iilonly

B. Vonly

C. TandTionly,

D. [Hland [V only

CHS

: CH.5
- _(\hAme_'L'LmJ;_;B.t-spa.éus..s’__._'n...

. . Given the graph of 'y = g(1) below, determine the value of ¢ for which gle)==3.

Answer as an integer.

.'Ar.\sw.r

66 000,00

. The tost C, in dollars, to rent a car is determined by thie formula C(k) = 0.15k + 22,
" where k is the number of}cflomcb‘es driven. Caleulate the value'cf k if (k) = 166.
Answer to the nearest kilometre, '

Record your answer neatly on the Answer Sheet.

, .Ansu}e.r-" _
66 Onoa.Nod
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' ® Whicti of the following equ;ﬁions describes the inear relation graphed above?

ChapterG . B | I ) R il

L | y-8=-3(x+3)

L | 4x+3y-12=0

IT only

T and IT only )
Iand IO only
IT and LI only

vnws

@ Determine the equation of a line, in slope-intercept form, that passes through the
points {6, 1) and (-10, 9).

A, y=-%x+4
i
B. y=-zx-2
: 2):
C. y=-2x+8

D. ywm-2x+13
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@ Which graph represents the reation x—5y+10=07?

A ‘ , : - B C y @ . Use a rulerto determine the stope of the roof shown below.

T L LT T T T T 1T T
T T L I LT T I T
T T T T T T LT L . T I1
C LT T T T T T T T LTI
. S S A L SO 6 O
R s R 5
T r—— na g
- % N o ‘ W
‘ PO S I S A O
: . ST T L T T 17
T T T T T T T
. )
* - . - IIIIIIIII']-l-IIll_l_IlI
Noter This diagram is drawn to scale.
a3
Ay
3
B3
4
c
3
. 4 .
.D. —_ -
3
@ P Ca'Jcﬁlata the slope between the points {7, —3) and (4, 3).
A -2
B. -4
. . : 2 B .
@ The ling y—2= %(x—'ﬁ) passes through which goint on the graph? . c.. 2 . ’ _ - .
\ D. 10

onNnw>
cow>
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@ " Which of the following relations could be produccd. by y= %x—-ﬁ‘?

| 2e-5y-10=0 | . | use Tor #9
. | {05, 0). 010, -2). (5. -8). (-10. -10} o

@ . A line has a slope of % and passes through the point (6, 0). Which of the following points must

also be on the line?

A (=3,-6)
B. (3,8
C. (4.-3)
D. (9.3)

Kelly explained her method for graphing the lingar retation y = — % x+7 as follows:

A. Toaly
- B. [Tonly
C. Tand Il only
. D LI a.nd i I '
[, | Place a dot on the y-axis at positive 7,
: . . - ’ - : : II. | Move-up (wo on the y-axis to positive 9,
;

(M, | From the posilive 9, move to the lefi three spots and place a do there.

. Dete&nine the slope of the linear relation 3x+5y+15=0,

1V. | Draw a tine through'the two dots. . ) |

A.
. Where did.Kclly make the first mistake in her explanation?”

A, Stepl
B. . Stepl
C. Steplll
D. There is no mistake,

o 9]
| ] '
Wt taluwe tilw Wi
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®‘ A video game programemer needs (o simulate a shoton a gaming'scrcen. The shot needs to h'avé. a. @ Which of the following graphs represents a line that passes throdgh (6, 4) and is
R - . _ 2 o ' . , . s
slope of g t6 a target at {100, 250). If the shooter has a herizontal position of 65, what would be pespendicular to y =T3F !

the shooter's positien on the screen? , : _ ‘ _ A
Video Screen
-300 ——
e x
(0o, 280) - :
= 200 1~
. B .
2 BRI SEARERRREaE
100 == ‘
. C y D ¥
104+ i ‘ 10 -l 4]
& A | i ‘\l ._‘L‘. 75
| | | i ES 1
1 [ I s LIS : 5 L
100 200 300 _ ! . me
" Horizontat : X . ' - S _
T o E o]~ Lo 1o o *
‘A (65, 718). L -
B (65, 125) A ' ‘ ‘ : 5 # 5 }
C. (65, 208) _ _ : ‘ ' _ e |
D. {65, 220.8) ‘ . . ' - _ MTYNRRNS: =
A line with an undefined slope passes through the points (~2, 1)- and (p, g), Which of the’ . ! o . . '
following points could be (p, g)7- C ' ’ o T @ Two isoseeles triangles have the same height. The slopes of the sides of idangle A are double the
' slopes of the corresponding sides of triangle B, How do the lengths of their bases compare?
A (1.0) . .- A. Thebaseof Ais quadru.plc that of B.
B (0.1) S B. The base of A is double that of B.
c. (0.-2) C." The base of A is haif that of B.
D D. The base of A is one quarter that of B.

S (=2,0)




Dnw >

Rewrite y = ?—6 in general form,

£ _
A 3y §-0

B. x45y=6=0
C. x-5y-30=0

D. 5x-3y-30=0

Lines A and B are perpendicular and have the same x—:nlercep[ The equation of line A
is x+2y~4 =0, Determine the y-intercépt of line B.

A -8
B. -2
Co4.
D.

: ' : _ ‘

Dctermmc the slope-intercept cquauon of the line that is para]lel y= —g-x 3 ‘and passes

through the paint (0 5).

A, y.=—w;-x—3
B.‘ y;;%x'+5
C, y=%x+3
D, y:%x-—i-S

Given the equation Ax+By+C =0, which of the foillowing conditions must be true for lhe. graph
of the litie 1o h-we a posmve slope and a positive ¥ mlelcepl"

A>0,B>0,C>0
A>0,B<0,Cs0
A30,B8>0,C<0
A>0,B<0,C<0

CH.G "

|

. 'Which of the following lines have a negative stope?

L|y+3=0

1 2x+y=6

HL | {y+2}=-4{x~5)

A, Monly
B. Iflonly
C. Tand Ilonly
D. Iland OI only

Which ‘of the following statements are true for 2x+ 3 y=67 .

-. L | The y-intcrccpt is =2,

II. | Theline is parallel 0 y = 2.

I | The slopesintercept form of the line is y = %x +2.

1V, | The range is all rea! numbers.

IV aniy

Fand IT only.
Tand 1V only
[T and TV only

JSom >

Determine the slope-intarcept form of the line that passes through the point {4, 3) and is paraliel
‘to the line segment that joins A (<1, »5) and B(-3, 1j.

A. y=~3x-9
B. y=-3x45
C. y=<3x+15
D, y=3x+15

CH.6
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. In which quadrant do the graphs of x = -7 and y = 2x+1 intersect?

A, Quadrant]
B. ‘Quadrant [}
C. Quadrant [1T
D. Quadram TV

_ﬂlmmﬁi.cql.ﬂ_“_mﬁﬁspans__:a‘_-_..._.m__

' : The slc;pc of AB is -% . The slope of CD is % Giv:ﬁ AB| CB, determine the value of w. . .

Answer as an integer.
L ]

- Record your answer neaily on the Answer Sheet.

= Lo ‘ .
&'3}“ A waterslide descends 20 m over a horizontal distance of 50 m. What is the slope of
the waterslide? Answer, with a positive value, to the nearest tenth. .

Record your answer neafly on the Answer Sheet,

' Angw&f‘

sonnnQ.ad
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@ Solve for y inthe following system of equations:

x=y=-I
o _ - ‘ . _ - ' o  3xeSy=2i
A2
B. 3 f
C. 9
D, 12
' C ' ' - . 7 ) ' Solve the following system of equations: ’
o ' . ' S ' R . Ax+2y=8
. . S ] : : . L o o “3x+y=—
- : v ' - ' "B (-L¢) ’ '
S L : ‘ . c (1,2 ‘ E
' . D. (3.2

® - How many solutions does this systemri of equations have?

y=3x+7
¥=3x-4
no solutign
one solution

an inftnite number of selutions
cannot be determined without solving

ON s




CH.]
CALONATCR_PERMITTED

@ * Which of the folluwing systems of linear equations has a salution of {~3, 4)?
2x=3y=§&

y=3a- i3

2x—31y=

B.
y=3x+13

n

y=3x-13

2x+3y::
D,

o
s
{

y=3r+13 . . ' g

@' Two planes have a cruising speed of 570 km/h without wind. The first plane flies for 12 hours
against a constant headwind. The second plane flies for 10 hours in the opposite direction with
the same wind (2 tailwind). The second plane flies 370 km fess than the first planc.

Determine two equations that could be used to solve for Lhe w:nd speed, w, 2nd the distance
travelled by the first plane, 4.

A {570-w)(i2)=d _
' {570 % w){10) = 4~ 370
B (570—\4')(12)
(570 + w)(10) = d + 370
C. (570'%\4')([2):1:’
{570 - w)f10) =-d - 370
D, {570+w)(12)=4
(570 ~ w)(10) = d +370

Toey bought & books. Some books cost $12 each the rest cost $18 each: He spent a total of $108.

Which of the following systems of linear equations could represent the given situation?

A xthy=8
12x+18y =108

B. . x+y=108
122+18y=8

(".:. x+12y=8
x+18y =108

D, 12x+y=8
x+18y = 108

Kim invested a total of $1500 between two bonds. One bond eamed §% per annum and the other

bond earned- 10% per annum. In one year, Kim earned $132 on her investments, How much did
she invest in the bond that earned 10%?

A, $600
-B. $750
C. $000
D. $1000

CH.T

R



Salve for x:

Ix+dy=+16 o ) Answer
x=4dy’

- A package of 12 hex bolis and- 10 anchos bolis weighs T pounds. A sscond package of

§ hex bolts and 15 anchor bolts weighs 4 pounds. How much does a single hex bolt weigh?
Angwer in pounds 1o one decimal place, )

‘Record your answer neatly on the Answer Sheet,

AHSWCT'

oonnnn.a0

CH.?
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I mile =1760 yards
1 mile = 5280 feet

1 yard = 3 feet

[ yard = 36 inches
1foot =12 inches

UNIT CONVERSION

Mg

I mile = 1.609 kin

1 ton = 2006 ‘pohnds 7
1pound =16 ourices

Tkm=1000m
' 1yard==0.9!§4m 1m =100 cm
1 foot = 0,3048 m L em = 10 mn,
Linch =~ 2.54 cm
* T'pound.= 0.454 kg [t=1000kg
lounce = 28.35 g lkg=1000g

mile = mj
yard = yd
ton ="ton
feet.= ‘or ft

inch="orin
"~ pound =1b
ounce =0z, - °

- kilometre = km
ntetre = m © ’

"centimetre = cm
millimetre = mm

* toane (melric ton) = |

gram=g

FORMULAE

{Put your calculator in Degrée Mode)
- . Right riangles : '

L opposiie
. SinA = S50
: hypatenuse

. _ adjacent -
cos 4 = —2ajacent

hypotetruse

lan A = opposite

- -adjacent

Pythagorean Thegrem

atrpi=g?

distance = speed X tixhe

"+ The equation of a line:
Y=mx+bh
Ax+By+C=0
Y=y =m{x-x)

"s The slope of 2 line;

=TS8 _8Y _ Yoy
mn ax x;—x,

Foundations of Mathematics and .Pré-Caic_i.llué.t 10

Dala-IPaga 1

GEOMETRIC FORMULAE .

. , _ . - - - e T -
-|”.|.il‘ll“'”El”IE!H|‘“I‘m|‘IIII”I”'il!liltill”T‘”I.”I|uiImll“ll“|”l-l'll|&illr‘“i”]! L T

1

Dat_a'l';'aga 2

I=length - P = perimeter *
w = width C'= circumference
‘b-'—-baserr A = ared '
k= height - . SA = surface area
£= slant height V = volume
r=radius - -
d = diameter "
coinetric Figure | _ Perimeler b
Rediangle: . P=2142w
: w or - . A=lw
1 ] P=2(+w)
Tiangle '
2 Ne Pza+b+c - 'A:%}i
N b L
Grde o
“ ‘ or- : A= ﬁ:rz
w C=2mr

NOYE:" Use the.value of n programmed in your cilculator
" - rather than the approximation of 3.14,

Fountiations of Mathematics and Pre-Calculus 10




Cylinder -

e
A, =nr

2
Apaze = B1
A, = 2rh

SA =2t £2nh-

V = (area of basej < h

o “SA = 4nr?
- SA=nd® "
Cone Age = ars
Aoy =T V= %x (area of basé)x it

SA=nrt+nrs,

2

A:ﬁa,a;_'rr: -]—bs ( for each u‘iangile?

. Abnse ='l.72

SA=2bs+H -

V= -%x {area of base)x h

Rectangular Psm
» ’w

-

SA = wh+ Wit dw+ ot + IR
or .

SA=2{wh+iw+in) -

V = (area of base) % h

. General Right Prism

$A = the sum of the areas -
of all the-faces

|V = (area of base)x h

General Pyramid

SA = the sum of the areas
of all the faces

v ='%>< (area of base)x k

NOTE: Use the value of 5 programmed id your calculator rather than the
. approximation of 3.14.

Foun.dauuns- of Mathiematics and Pre-Calculus 10
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